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Bihar State Power (Holding) Company Limited

fagR ¥ uray @ifege) ua fafaes

TestTime  9:00 AM - 10:30 AM
Subject Correspondence Clerk and Store Assistant

Section : General Knowledge

0.1  According to the 2011 Census of India, what was the population growth rate recorded for the Hindu religion?
Ans % 1.10.45%

x2.20.23%

x3.27.09%

v 4.16.8%

Q.2  When was the Gandhi-Irwin Pact signed by Gandhiji on behalf of the Congress and Lord Irwin on behalf of the British Government?
Ans x 1.10 January 1931

% 2.15 February 1931

% 3.20 April 1931

« 4.5 March 1931

Q.3 Which Indian state has the lowest sex ratio, according to 2011 Census?
Ans % 1. Karnataka

« 2. Haryana

X 3. Maharashtra

X 4. Tamil Nadu

0.4  Which of the following Constitutional Amendment Acts made it a Fundamental Duty of parents to provide education to their

children aged 6-14 years?
Ans x 1. 45th Constitutional Amendment
x 2.42nd Constitutional Amendment
@3 86th Constitutional Amendment

x 4. 78th Constitutional Amendment

Q.5  When was the Federal Court of India established?
Ans  x1.1930
v 2.1937
x3.1925
% 4.1919
Q.6  Which of the following High Courts in October 2024 had held that the Victim Assistance Scheme for rape survivors can be applied
retrospectively?
Ans x 1. Hon’ble Bombay High Court
x 2. Hon'ble Delhi High Court
« 3. Hon'’ble Punjab and Haryana High Court
% 4. Hon'ble Rajasthan High Court
Q.7  In Parliamentary proceedings, how many starred questions are included in the list of business for oral answers in both Houses each
day?
Ans «1.20
x2.30
x3.10

x4.25
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0.8  Which team was a runner-up in the U-19 Cricket World Cup 2024?

Ans x 1. Australia
x 2.Bangladesh
% 3. Sri Lanka

« 4. India

Q.9  Which of the following religious groups in India has the lowest percentage of other backward classes?
Ans 1. Jains

x 2. Christians

x 3. Buddhists

x 4. Hindus

Q.10  In 2024, which country assumed the chairmanship of BRICS?
Ans x 1. India

x 2. South Africa

x 3. China

« 4. Russia

Q.11  As of November 2024, the National Quantum Mission's objective includes developing intermediate-scale quantum computers with

50-1000 physical qubits in ______years in various platforms like superconducting and photonic technology.
Ans x1.5

x2.10

v3.8

x4.6

Q.12 In which state of India is the Sundarbans bio-reserve located?
Ans x 1. Karnataka

« 2. West Bengal

x 3. Kerala

x 4. Odisha

Q.13 Which of the following liberal leaders of the congress is related to the foundation of 'The Servants of India Society' in 19057
Ans % 1. Keshab Chandra Sen

% 2. Mahatma Gandhi

X 3. Raja Ram Mohan Roy

« 4. Gopal Krishna Gokhale

Q14 In____ __. Viceroy Curzon partitioned Bengal.
Ans x 1.1907

»2.1905

% 3.1903

x 4.1909

Q.15  In which physiographic division of India are the ‘Kotli Dun’ and ‘Patli Dun’ relief features found?
Ans x 1. The Coastal Plains

% 2. The Islands

« 3. The Himalayan Mountains

% 4. The Peninsular Plateau

0.16  When would Vigilance Awareness Week 2024 be observed?
Ans x 1. From 28 November 2024 to 3 December 2024

% 2. From 8 November 2024 to 14 November 2024

« 3. From 28 October 2024 to 3 November 2024

X 4. From 8 December 2024 to 14 December 2024
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0.7  Which of the following is INCORRECT regarding fundamental duties?

Ans » 1- Added through 44th Amendment
x 2. Added through 42nd Amendment
x 3. Added in Part IV-A

% 4. Added in Article 51A

Q.18  Who among the following wrote the Tamil version of the Ramayana in the 1¢h Century CE?
Ans x 1. Jayadev

x 2. Vishakhadatta

x 3. Andal

« 4. Kamban

Q.19 How much of Khums was considered as war booty during the Delhi Sultanate?
Ans x 1. One-third

x 2. One-sixth

« 3. One-fifth

x 4. One-tenth

Q.20 In June 2024, which of the following countries from Africa won a non-permanent seat on the United Nations Security Council?
Ans « 1. Somalia

x 2.Kenya

% 3. Zambia

x 4. Sudan

Section : Logical Reasoning

Q.21 Refer to the following number series and answer the question that follows. Counting to be done from left to right only. (All
numbers are single-digit numbers only.)
(Left)4215798536215737843697452 41 (Right)

How many even numbers are there in the number series between the number which is eighth from the right end and sixth from the

left end of the series?
Ans x 1. Four
« 2. Five
x 3. Two
x 4. None
0.22  Refer to the following letter series and answer the question that follows.
(Counting to be done from left to right only.)

(Left) PJVNLGTEWSQORIUXMCHD K (Right)

How many consonants in the given series are immediately preceded by a vowel and immediately followed by a vowel as well?
Ans x 1. Four
x 2. Three
x 3. Two
« 4.0ne
Q.23  If the letters in the word FEMININE are rearranged according to the English alphabetical order, then how many letters will retain
their original position?
Ans x 1.0ne
x 2.Two
X 3.Zero

« 4. Three
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Q.24 What should come in place of the question mark (?) in the given series?

160, 162, 167,177,194, ?
Ans «1.220

x2.215

x3.209

x4.210

Q.25 In the following number-pairs, the second number is obtained by applying certain mathematical operations to the first number.

Select the set in which the numbers are related in the same way as are the numbers of the following sets.

72,96
48,72

(NOTE: Operations should be performed on the whole numbers, without breaking down the numbers into its constituent digits. E.g.
13 - Operations on 13 such as adding / subtracting /multiplying etc. to 13 can be performed. Breaking down 13 into 1 and 3 and then

performing mathematical operations on 1 and 3 is not allowed.)
Ans x 1.86,108
x2.98,74
x3.39,117
@ 4.91,115

0.26 Select the correct mirror image of the given figure when the mirror is placed at XY as shown below.

X
KING239

N
Ans vl RESDUIN
X2 KINES39
x3KINES3d
x4 QESOMIK

Q.27 If 3 is added to each odd digit and 2 is subtracted from each even digit in the number 15364832, how many digits will appear more

than once in the new number thus formed?
Ans x 1. Three
« 2. Two
x 3. Four
X 4.0ne
Q.28 Five people, P, Q, R, S, and T, are standing in a queue, all facing north, one behind the other in random order. P is neither first nor

last in the queue, but is ahead of T. R stands immediately behind S. S is ahead of P. Q is at the last position of the queue.
What is the position of P in the queue?

Ans « 1. Third from the front
x 2. First from the front
x 3. Fourth from the front
x 4. Second from the front

Q.29 72 s related to 184 following a certain logic. Following the same logic, 96 is related to 208. To which of the given options is 148

related, following the same logic?

(NOTE: Operations should be performed on the whole numbers, without breaking down the numbers into their constituent digits.
E.g. 13 — Operations on 13 such as adding/subtracting/multiplying to 13 can be performed. Breaking down 13 into 1 and 3 and then

performing mathematical operations on 1 and 3 is not allowed.)
Ans «1.260

x2.262

x3.278

x4.271
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0.30 Three of the following four word-pairs are alike in a certain way and thus form a group. Which word-pair DOES NOT belong to that

group?

(NOTE: The words must be considered as meaningful English words and must not be related to each other based on the number of

letters /number of consonants/vowels in the word.)
Ans x 1. Rickets : Vitamins

x 2. Goitre : lodine

x 3. Anaemia: Iron

« 4. Scurvy : Blood

Q.31 Cis the brother of B. W is the daughter of P. K is the daughter of B. N is the husband of P. W is the wife of B. How is W related to C?
Ans x 1. Brother’s daughter

x 2. Wife's father

x 3. Wife's brother

« 4. Brother’s wife
Q.32 Based on the English alphabetical order, three of the following four letter-clusters are alike in a certain way and thus form a group.

Which letter-cluster DOES NOT belong to that group?

(Note: The odd one out is not based on the number of consonants/vowels or their position in the letter-cluster.)
Ans « 1. TOR
x 2. KFH
x 3. OLN
x 4. NIK
Q.33 If 2 is added to each even digit and 1 is subtracted from each odd digit in the number 9352674, which of the following digits will be
third from the right in the new number thus formed?
Ans x1.5
x2.6
»3.8
x4.2
Q.34 FA 12 is related to CX 20 in a certain way. In the same way, DY 49 is related to AV 57. To which of the following is KF 62 related,
following the same logic?
Ans  x1.GC70
2. HC 70
% 3.HB 72
x 4.GB 72
Q.35 Each vowel in the word TEMPLE is changed to the letter immediately following it in the English alphabetical order and each

consonant is changed to the letter immediately preceding it in the English alphabetical order. Which of the following letters will be

fourth from the left in the group of letters thus formed?
Ans x1M
x2.0
x3.P
4.0
0.36 CRACK s related to GVEGO in a certain way based on the English alphabetical order. In the same way, DEATH is related to HIEXL. To
which of the given options is TOTAL related, following the same logic?
Ans x 1. xTXEP
X 2. XTXFP
X 3. XSXFP

4. XSXEP
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Q.37 If 2 is added to each odd digit and 2 is subtracted from each even digit in the number 1783564, how many digits will appear more

than once in the new number thus formed?
Ans x 1. Two
« 2. None
x 3. Three
x 4.0ne
Q.38 FE 36 is related to IH 44 in a certain way. In the same way, K] 51 is related to NM 59. To which of the given options is RQ 63 related,
following the same logic?
Ans x 1. XW 55
x2.TU 71
x3.VW 75
w4 UT 71
0.39 Six people U, V, W, X, F and G are sitting around a circular table facing the centre of the table. V sits third to the left of W. Only one

person sits between W and U when counted from the left of U. Only two people sit between G and U when counted from the right of

U. X is an immediate neighbour of G. How many people sit between X and F when counted from the right of X?
Ans x 1. None

% 2. Three

x 3.0ne

« 4. Two

Q.40 What should come in place of the question mark (?) in the given series?

78 818590 ? 103
Ans « 1.96

x2.92

x3.94

x4.98

Section : General English and Comprehension

Q.41 Select the most appropriate meaning of the given idiom.

To beat around the bush
Ans « 1. To avoid the main issue
x 2.To act smart
% 3.To be around a bush

x 4. To beat someone

Q.42 Select the option that can be used as a one-word substitute for the given group of words.

To be cheerful and friendly
Ans x 1. Lethargic
« 2. Jovial
x 3. Sorrowful

x 4. Ephemeral

0.43 Select the most appropriate synonym of the given word.

Arcane
Ans x 1. Obvious
x 2.Simple
« 3. Mysterious

x 4. Clear



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247 Eoogle Play

0.44 Select the most appropriate option to fill in the blank.

He the document carefully before signing it yesterday.
Ans x 1.scanning
« 2. scanned

x 3.scans

x 4. has been scanned

Q.45 Select the most appropriate option to fill in the blank.

Despite the ___ weather, the team completed the expedition.
Ans x 1. magnanimous

% 2. developed

x 3. beautiful

« 4. challenging

Comprehension:

Read the given passage below and answer the questions that follow.

During the Roman times, defeated enemies were generally put to death as criminals for having offended the Roman emperor. In the Middle Ages,
however, the practice of ransoming or returning prisoners in exchange for money, became common. For some this was a customary practice as a
step towards a more humane society. But the primary reasons behind it were economic rather than humanitarian as in those times, rulers had only
a limited ability to raise taxes. They could neither force their subjects to fight nor pay them to do so. The promise of material compensation in the
form of goods and ransom was therefore the only way of inducing combatants to participate in a war. In the Middle Ages, the predominant
incentive for the individual soldier to participate in a war was the expectation of spoils. Although collecting ransom clearly brought financial gain,
keeping a prisoner and arranging for his exchange had its costs. Consequently, several procedures were devised to reduce transaction costs.
SubQuestion No : 46

Q.46 Which of the following describes the tone of the passage?

Ans x 1. Happy

« 2. Factual

x 3. Excitement

x 4. Humourous

Comprehension:

Read the given passage below and answer the questions that follow.

During the Roman times, defeated enemies were generally put to death as criminals for having offended the Roman emperor. In the Middle Ages,
however, the practice of ransoming or returning prisoners in exchange for money, became common. For some this was a customary practice as a
step towards a more humane society. But the primary reasons behind it were economic rather than humanitarian as in those times, rulers had only
a limited ability to raise taxes. They could neither force their subjects to fight nor pay them to do so. The promise of material compensation in the
form of goods and ransom was therefore the only way of inducing combatants to participate in a war. In the Middle Ages, the predominant
incentive for the individual soldier to participate in a war was the expectation of spoils. Although collecting ransom clearly brought financial gain,
keeping a prisoner and arranging for his exchange had its costs. Consequently, several procedures were devised to reduce transaction costs.

SubQuestion No : 47

Q.47 Select the most appropriate ANTONYM of the given word, as used in the passage.

Predominant
Ans x 1. Primary
x 2. Main
x 3. Foremost

« 4. Least
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Comprehension:

Read the given passage below and answer the questions that follow.

During the Roman times, defeated enemies were generally put to death as criminals for having offended the Roman emperor. In the Middle Ages,
however, the practice of ransoming or returning prisoners in exchange for money, became common. For some this was a customary practice as a
step towards a more humane society. But the primary reasons behind it were economic rather than humanitarian as in those times, rulers had only
a limited ability to raise taxes. They could neither force their subjects to fight nor pay them to do so. The promise of material compensation in the
form of goods and ransom was therefore the only way of inducing combatants to participate in a war. In the Middle Ages, the predominant
incentive for the individual soldier to participate in a war was the expectation of spoils. Although collecting ransom clearly brought financial gain,
keeping a prisoner and arranging for his exchange had its costs. Consequently, several procedures were devised to reduce transaction costs.
SubQuestion No : 48

0.48 Select the most appropriate title for this passage.

Ans x 1. How to participate in a war

« 2. The practice of ransom in ancient times

* 3. Roman times better than modern times

x 4. Prisoners: A boon to society

Comprehension:

Read the given passage below and answer the questions that follow.

During the Roman times, defeated enemies were generally put to death as criminals for having offended the Roman emperor. In the Middle Ages,
however, the practice of ransoming or returning prisoners in exchange for money, became common. For some this was a customary practice as a
step towards a more humane society. But the primary reasons behind it were economic rather than humanitarian as in those times, rulers had only
a limited ability to raise taxes. They could neither force their subjects to fight nor pay them to do so. The promise of material compensation in the
form of goods and ransom was therefore the only way of inducing combatants to participate in a war. In the Middle Ages, the predominant
incentive for the individual soldier to participate in a war was the expectation of spoils. Although collecting ransom clearly brought financial gain,
keeping a prisoner and arranging for his exchange had its costs. Consequently, several procedures were devised to reduce transaction costs.
SubQuestion No : 49
0.49 Which of the following describes the main theme of the passage?
Ans x 1. To emphasise the importance of a warrior’s ‘word of honour’ during the Middle Ages
« 2. To highlight the economic basis of the medieval practice of exchanging prisoners for ransom
x 3. To explore three ways of reducing the costs of ransom

x 4. To examine the history of the treatment of prisoners of war

Comprehension:

Read the given passage below and answer the questions that follow.

During the Roman times, defeated enemies were generally put to death as criminals for having offended the Roman emperor. In the Middle Ages,
however, the practice of ransoming or returning prisoners in exchange for money, became common. For some this was a customary practice as a
step towards a more humane society. But the primary reasons behind it were economic rather than humanitarian as in those times, rulers had only
a limited ability to raise taxes. They could neither force their subjects to fight nor pay them to do so. The promise of material compensation in the
form of goods and ransom was therefore the only way of inducing combatants to participate in a war. In the Middle Ages, the predominant
incentive for the individual soldier to participate in a war was the expectation of spoils. Although collecting ransom clearly brought financial gain,
keeping a prisoner and arranging for his exchange had its costs. Consequently, several procedures were devised to reduce transaction costs.

SubQuestion No : 50

Q.50 Select the most appropriate synonym of the word, as used in the passage.

Gain

Ans x 1. Diminish
x 2.Dip
x 3. Lose

« 4. Accumulate

Section : General Hindi and Comprehension
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0.51 fFufafdd fAeed ¥ § ardae &1 gafgard F-ar 82
Ans ¢ 1. WR
x2.79d
x 3.0
x4
0.52 fHfafEd el ¥ & Iy &1 fadn a< StF-11 &2
Ans x 1. 33Rd
2. 39FY
x3.3W
x 4. T
Q.53 VARG sgAfaaies fFaT A< F U 10 argd &1 b w21 qof 3%-
BIBI AT &I S TGS .o I
Ans x 1.3
% 2. 913
X338

v 4. 3178

Q.54 ‘EPPRIR 314 &A1 - gETax &1 319 F|m 87
Ans 1. Tud ¥ sy urd AT
% 2. 3G & e agrd a1
3. BR A @
X 4. 3PTST BRA
Q.55 A3 fgu 31 & fare 3ugw AMPIfe faw arv fysedt & & gfv
i F 3R S FA1 AR
Ans 1. 31 WU a1 93
x 2. 3 A 3, 7157 R B ST
* 3. 3NIUNT R et 98t avyy

x 4. 39 TR 3P i

Comprehension:

A sTerier & e o= 94 & 3 3

o e b1 aRwRT & wifecy & ufaaar 1 offiyeet i (ice Sk Ja 3eH 19 81 e 3R |l B dT1eel, FH1ST H AT He-o11d & A ararervn 3R eHepis §
o1 Mffad 3R ATl I SBaIR = GobTael 5T 3BT HTGLAHAT HTST aARAaH T 3 Bal SAaT g1 W MY 4R g SR BT IRifTesar & gl 7 forad § "3
BT TR I & TR &R 3 & o) 98 SNeR & 6 A= R TR U el 3R 378 3eH) § 3 @G A1 378 3R 3115 3 3t &1 g 9wy ¥ fig-gorem &
TR S WRI1E 8, 98 BaR S T A 377 &1 GART AT Bk S I F 317805 3Ry }1 3 30151 2 ot 3% 319 Wt e ¥ gt gvenft 3o
Tgdt 13 1. RIE 31 98 S99 37151 $ 00 I 3R Wb 9 &1 [ &1 AR ARhdl P Asigd ald el 31 ATa1ore! & §i sgdt IRRIar 59 ard 6
TP FA &1 5 TPR FRIGE SR P HRIFIHAT 3R 7T WG § 37! AR 3151 S AId TAIS Bl g a8l

SubQuestion No : 56

Q.56 T & e 4R 3IWR &I
PR B Teaf F adar ara IS B AU AT NS 272

Ans o 1. 70 el ¥ HdlR &b I
x 2. AT9CIRS rfthal Bl I a1 ST =1
x 3. A AW BT I =fEU
X 4. AR B A gF fordh s a1fge
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Comprehension:

LA Terier & 3meR R 9o & IR 3

& i &1 ovuvt § ARy & gfader 1 offficeT § FRice Sk Ao 376H 19 1 & 3R [l T ar-enel, FHst ¥ A Ag-ord &b e arararvr 3R erebig 3
o1 Mffaa 3R ATt I eIk gbTaell 5T 3BT HTGLAPAT ST ARl H Bel SAaT g1 W MR g B BT gRifTear & gl 7 forad § '39!
AT IR IS 1 R 3% I & o I8 AR & 6 A= AR 0 U el 3R 31 37eHT I 3 &g A1 318 31K 311 3 3eH &1 g I 7 - gaer i &
I fSrat oraE &, 98 FER & AT F 3778 1§ 9T HAR S I A A 3R] &1 30T A A 3% 379 WA HeA § g Wt 3arh
ggdt 13 . 4T 1 98 S99 37151 $ 10 I 3R Wb 9 &1 T &1 AR Afhdl P Asigd ald /el 31 AraTforsd! & S sgdt IRRIar 39 ard 6
TP B &1 5 TPR FRIGE SR P HRIPIBAT 3R T WG § 376! AR ATST S AId FAIS Bl g AaLqSHd gl

SubQuestion No : 57
Q.57 39 A &q, 3Rd M &1 997 S
Ans x 1. o fagy
» 2. BER 3R AiyerRear
x 3. 99151 & fafig dver
x 4. IR B Ay

Comprehension:

iR Terier & 3neR w g3l & IR

& e &1 RuRT  A1fey F wfader b1 fffiepr 7 FRice R Tod 3767 A7 &1 &7 3R I BT aredl, JHIS § A NG-91q &b [ araravvr 3R SHebis I
o1 Mffadr 3R ATl I AR 7 gobTael 5T ITHT HTaLAHAT ST aRdfaedl 3 Hel AT g1 9. MR g FER H yRifiear & g 7 forgd § "3
IRIFTG IR S g AER 3R R & @ I8 SR & 3 A=y dlk IR U el 3R 378 3MGH I 3 ol A1 378 3R 31151 & et 31 gAR wAd - e &
TR S TaE B, 98 SR & qHg A MAS 81 AR THT HAR S THT J 34 3R] 1Y 3757 A3 o 3% 300 Wi ey ¥ gtk et 3
a5l 1"3 . 9T BT I A 37151 S 7 T 3R G I9 B1 9 | AIGTIP AThal b Hlg ald alviel 3R ATAIIR! P S a6 NIl 59 ard &
TP BT &1 7 YBR FARICE BaIR I JIIFIRal 3R AU HSH ¥ 37HI AR 3151 S HIa JHIS P 3Hcllg 3aeFbBl 8

SubQuestion No : 58
Q.58 3URT YA F MR 4R FEffEd ¥ F SI=1 9T 3T 82
Ans | 1. PR B JHI B 3R] oI

x 2. TAHTT TS ¥ HER 6T 39T HT 8l

x 3. BER B AT U TGl P S 313X B

x 4. Tiyeriie gy 31T ygal § 31 &1

Comprehension:

R Terier & 3MeR R T3 & IR &

& e b1 R ¥ Wfey & ufiuer Bl ffieet § e HaR Ja 3768 A9 &1 e 3R A BT qnd, JH1S H A He-o1d P A ararervr 3R dHeiE 4
o1 feffesan 3R AIfbadT I SR A HpTaa 5T 3WHT TS 3151 aRAabdl i Hel sA1al &l . My LR g SR 1 yRifiedr & weof § forad & "33
RIS R IS &1 fEaR SR I8 & d I6 MR & fob AHI AR IR U el 37 37 3GH! I 3 &g A1 3 31R 3101 3 37aH 1 g Iy 7 - qoferi &1
T S 9TTaE 8, 98 PR & AH J IMAG &1 §HRT THT BaR 5 AT F M5 3R] 1T 30T € o 3¢ 319 R e F gy et 3o

Tgcif 1”3 Y. RIE BT I8 91 3711 & 30 Wy 3R WIhA1% I BT 17 &1 HETRAD ATHAN P Holgd ald el 3R AIfSIP! b i< 9l AR 59 a1 B
TS A 1 3T TBR FRISE BaR B Rifaar 3R Fu el & 396 IRea1 3151 & 194 WHIST B 37cl1d 3139 8l

SubQuestion No : 59
0.59 fHferfAd el § @ S179 ey A" o< ST ey A< 872
Ans » 1. fafE

x 2. D&

x 3.8

x 4. fagw
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Comprehension:

AR Terier & 3MeR R 9 & IR &

& e b1 aRuRT & Wfey & wferaar Bl offiyeet § (e Sk Ja 3gH 19 81 e 3R |l &1 AT, JHrsT 7 Ared He-od & ¥ ardrervn 3R wHebis §
o1 Mffean 3R AT I AR 7 gobTael 5T ITB! HTGLAHAT ST AR Al 3 Bel AT g1 U MR g FER HT IRifTear & gl 7 forad § "3
BT TR I & TR &R 38 & o) 98 SR & 6 T R TR U el 3R 378 3mar § 3 @rg 1 318 3R 3151 3 3 1 g wmy K g e &
TR ST WA13E 8, 98 Bk S I I 377G &1 GART T HaR S I I 31785 3Ry }1 3 371 2 o 3% 319 Wt e § gt grenfRit 3o
Tgdt 13 . T 1 98 S99 37151 & 00 I 3R Wb 9 &1 T &1 AR Afhdl F Asigd ald el 3R AraTfore! & i sgdt IRTRIar 39 ard &
TP B &1 5 TR FRIGE PR BT HRIPIBAT 3R T WG § 37! AR ATST B AId TAIS Bl HAclg aLqSH gl

SubQuestion No : 60
0.60 fPHfafd el § § S feey o A< &1 qITgar o= T &2
Ans x 1. @131
x 2. fpar
x 3.9
4. PG
Q.61  Which of the following menus has page orientation in MS-Word?
Ans x 1. Insert
« 2. Page Layout
x 3. Review

x 4. File

0.62 What is the purpose of a ransomware virus?

Ans x 1. To display ads on the system
« 2. To lock users out of their files or system and demand payment for access
x 3. To remove other viruses from the system
x 4. To speed up system performance

0.63 ‘What is the full form of LINUX?

Ans 1. Lovable Intellect No Using XP
« 2. Lovable Intellect Not Using XP
% 3. Lovable Intellect None Using XP

X 4. Lovable Intellect Null Using XP

Q.64  Which of the following keyboard shortcuts is used to print a web page in Google Chrome in the Windows 0S?
Ans x 1.Ctrl+Alt+P

@ 2.Ctrl +P

x3.Alt+P

x 4. Shift +pP

0.65 ‘Which following functions is used to search for a specific value in the first column of a dataset in a spreadsheet of MS
Excel?

Ans « | VLOOKUP
X 2. SLOOKUP
X 3. HLOOKUP
X 4. FLOOKUP
Q.66 If a user wants to correct a misspelt word directly from the document instead of the Spelling and Grammar dialog box, what should
they do?
Ans x 1. Close the spell checker.
x 2. Add the word to the dictionary.
x 3. Use the 'Ignore’ button in the dialog box.

« 4. Click on the word in the document and edit it.
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Q.67 How can the MS Word proofing settings be altered to check for particular grammar rules, like the use of commas or passive voice?

Ans x 1. Use the 'References' tab and click 'Check Grammar'
« 2. Navigate to 'File' > 'Options' > 'Proofing' > 'Settings'
% 3. Go to 'Review' tab and click 'Set Language'

x 4. Right-click a flagged error and select 'Grammar Settings'

Q.68 How can users maintain the aspect ratio of a Clip Art image while resizing it in MS PowerPoint?
Ans x 1. Right-click and select 'Fix Ratio'

« 2. Press the Shift key while dragging a corner handle

x 3. Use 'File' > 'Save As'

x 4. Press the Ctrl key while dragging a handle

Q.69 The full form of IMAP in the context of email client configurationis _____
Ans x 1. Internal Mail Administration Protocol
« 2. Internet Message Access Protocol

x 3. Internet Main Access Protocol

x 4. Integrated Mail Access Protocol

Q.70 What happens if you use the 'Clear All Formatting' option?
Ans « 1. It resets text to the default style and removes all formatting.
x 2.1t removes the entire document.
% 3.1t only removes bold and italic formatting.

x 4. 1t saves the document.

Q.71 Which of the following ways is NOT useful for securing a PC?
Ans x 1. Use antivirus softwares

x 2. Use firewall

x 3. Use strong password

« 4. Use free Wi-Fi

Q.72 Which of the following is a common technique for accessing the internet?
Ans x 1. Bluetooth

« 2. Dial-up

x 3.USB

x 4.NFC

Q.73  Which of the following steps allows you to insert a Clip Art image into a PowerPoint slide?
Ans « 1. Click the 'Insert' tab, then select 'Online Pictures' or 'Clip Art'

% 2. Use the 'Format' tab and select 'Clip Art'

x 3. Right-click on the slide and select 'Insert Clip'

x 4. 0pen the 'Design' tab and choose 'Add Art'

Q.74  Which function would you use to create a custom date series that increments by quarters (e.g., Jan 1, Apr 1, Jul 1, Oct 1)?
Ans « 1. EDATE with a step value of 3

* 2. WORKDAY with a step value of 3

x 3. DATE

% 4. SEQUENCE with a step value of 3

Q.75 Which of the following keyboard shortcuts is used to undo the last action in MS Word?
Ans x 1. Ctrl+X

x 2. Ctrl+C

3. Ctrl+Z

x 4. Ctrl+Y
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Q.76  What is the full form of Bee?

Ans « 1. Blind carbon copy
X 2. Blank carbon copy
X 3. Black carbon copy
X 4. Borrow carbon copy

Q.77 | What s the keyboard shortcut for Print Preview of an MS Word document?

Ans x 1 cul+F1
¥ 2. cul+F2
X3 cul+F4

K4 cul+F3

Q.78  Which of the following commands can be used to open the Windows Features window?
Ans x 1. optional features

x2.win +R

« 3. control features.cpl

x 4. Windows Features

Q.79  Which of the following best describes the role of a system software in relation to application software?
Ans « 1. System software provides a platform for running application software.

x 2. System software is designed to create new applications.

x 3. System software replaces the need for application software.

x 4. System software is used to enhance the user interface of application software.

Q.80 Which of the following options is NOT a consideration when printing web pages from a browser?
Ans x 1. Printing header and footer information, such as page numbers and URL
x 2. Selecting the printer and specifying the number of copies to print
X 3. Page setup settings, such as orientation and margins
« 4. Font size and color adjustments for better readability
Q.81 What is the average speed of a car which covers half the distance with a speed of 35 km/hr and the other half with a speed of 63
km/hr?

Ans « 1.45 km/hr
% 2.47 km/hr
x 3.38 km/hr
x 4.43 km/hr
Q.82 The first part of a journey is covered in 6 h at a speed of 100 km/hr and the remaining part of the journey is covered in 3 h and 20
min at 72 km/hr. What is the average speed (in km/hr) for the entire journey?
Ans x1.72
»2.90
x3.84
x4.96

The ratio of Rinku and Tripthy's monthly incomes is 5 : 3 and the ratio of their expendituresis 2 : 1.
If each of them saves 6,000 per month, what is the monthly income of Rinku (in %)?

Ans x 1.35,000

0.83

«2.30,000
% 3.25,000

x 4.20,000
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0.84

Ans

Q.85

Ans

0.86

Ans

0.87

Ans

0.88

Ans

0.89

Ans

On the basis of his experience, a contractor estimates that 3 workers can dig a well of suitable depth and diameter in a farmhouse

in 4 days. To finish this work early, he engages 4 workers. How many days will they take to finish the work?
x 1. 3.5 days
x 2.2.5days
« 3.3 days
x 4.2 days
Six years ago from the present age, Radha was thrice as old as Pinki. Twelve years later from present age, Radha will be twice as old
as Pinki. What are the present ages of Pinki and Radha, respectively?
x 1.14 years and 42 years
% 2.17 years and 85 years
x 3.19 years and 65 years
« 4. 24 years and 60 years
In an election between two candidates, 96% of the registered voters cast their vote and 15% of the votes polled were found invalid.

The winning candidate got 56% of the valid votes and won the election by a margin of 1530 votes. How many voters were

registered?

»1.15625

x2.15624

x 3.15627

x 4.15628
In a test, the average score of 50 students in a class is 63. Out of the total students, 50% are girls and the rest are boys. The
average score of the boys is 20% less than that of the girls. Find the average score of the girls.

x1.65

x2.54

x3.56

@ 4.70

@
()

2
273
Simplify the given expression. (ﬁ)

80

259
o 81
256

xT.

4

84
255

82
257

Evaluate the following:

35-[25-{31-(22-12 + 8)}]
w123

x2.20

x3.22

x4.26
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A dealer buys two articles X and Y for 2,800 each. He marks each of them at the same price. He sells X by giving two successive discounts of 61% and 60% and still earns X866 as profit.
If he sells Y at a single discount of 86%, then what is the profit percentage on Y?

> » O© ©

w

X2 165%
K3 17%

x4 16%

Q.91 Simp]ify% - (? + 08 X 5) + % )
Ans w1.714.7

x2.12.6

x3.0

x4.-85
Q.92 5 men and 6 women can do a piece of work in 6 days while 3 men and 5 women can do the same work in 9 days. In how many days

can 3 men and 2 women do the same work?
Ans x 1. 121—1]

x2. 13%

v3inl

) 9
x 4. 107

3
Q.93 By selling an article at i) of its actual selling price, Akash incurs a loss of 13%. If he sells it at 50% of its actual selling price,

then the profit percentage is:
Ans « 1.88.5%

% 2.90.6%
x3.863%

x 4.87.6%

0.94  Simplify Y405+ 845+ V45— 180
Ans x1 16v5
X 2. 2045
¥ 3 195
x4 2145
Q.95 The marked price of an article is ¥1,200. The seller gives three successive discounts of 20%, 10% and 5%, respectively. Find its
selling price.
Ans x 1.%800.80
% 2.3860.80
« 3.3820.80
% 4.3880.80
0.96 |If the price of a computer screen is first increased by 15% and then increased by 20%, then the resulting percentage increase in
price will be:
Ans x1.25%
x2.30%
x3.32%

+4.38%



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247 Eoogle Play

0.97 If the radius of a cylinder is reduced by half and the height is increased by four times, what will be the net change in the volume?

Ans x 1. The new volume will be decreased by 20%.
« 2. There will be no change in the volume.
% 3. The new volume will be 15% of the original volume.

x 4. The new volume will be increased by 25%.

Q.98 The average of the marks of 15 students in a class is 50. If the marks of each student are doubled, find the new average.
Ans « 1.100
x2.30
x3.15
x4.50
Q.99 A retailer buys an electronic item for ¥180. His overhead expenses are ¥20. He sells the electronic item for ¥320 and makes x%
profit. The value of x is:
Ans x 1.50
v 2.60
x3.40
x4.80
Q.100 5 times the present age of Renu is 13 years more than 8 times the present age of Manav, and 9 times the present age of Manav is 9
years less than 5 times the present age of Renu. The sum of the present ages (in years) of Renu and Manav is:
Ans x 117
x2.1
x3.15

w413
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